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h=4.0m W=0.225t DL4+S LD L=1¢
Ehme RN o ‘ 8 10 ' 12 ! 1 ’ 16 / 18
W DSl 1.80 2.25 2.70 3.15 3.6 0 4.05
) D.L+S.L. 288 3.60 4.32 5.0 4 576 6.48
[ Vi = Ve D 0.90 112 1.35 1.58 1.80 2.0 2
Ct) D4+ S 1.44 1.79 2.16 253 2.8 8 323
Ha =Hg D 0.35 0.51 0.7 0 0.90 112 1.36
(E) D+S 0.56 0.8 2 112 144 1.79 2.18
M = Mp D —140 —204 —280 —3.60 —4.48 —5.44
(tem) D4+ S =224 —3.26 —4.48 —5.76 LT —8.70
NBo=Npec D —0.6 0 =081 —1.06 =131 —1.59 —1.88
(t) DS =0.9%6 |- —q13y —1.70 —210 —2.54 —3.01
Qer=Qp0 D 0.76 0.92 1.09 1.25 1.40 1.55
(t) D+S 1.22 147 1.74 2.00 2.24 2.48
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h=4.5m wW=0.225tn DL+S LD L=15
Ehpe M L 8 10 ) 12 ' 14 16 ) 18
W D.L. 1.80 225 2.70 315 360 4.05
(t) D.L+SL 2.88 3.60 432 5.0 4 576 6.48
Va = Vg D 0.90 1:1 2 1.35 1.58 1.80 2.02
(] D+sS 1.44 1.7 9 2.16 2.53 2.88 3.23
Ha =Hz D 0.32 0.47 0.6 4 0.8 4 1.04 1,27
Gt D+S 0.51 075 1.02 1.34 1.6 6 2.03
MB = Mp D —1.44 —2.12 —2.88 —3.78 —4.68 —5.7 2
(tem) D+S —2.30 —3.39 —461 —6.05 —749 —9.15
NBo=Npg¢ D =057 —0.77 —1.00 —1.25 —1.52 —1.80
(1) D+S —0.91 —1.23 —1.60 —2.00 —2.43 —2.83
Qe=Q D 0.7 7 0.9 4 1Ll 127 142 1.58
(t) D+ S 1.23 1.50 1.7 8 2.03 227 253

e Hh 33
h=4.5m
GALRA
IS AES _
W i
(t) D.L.+
VA'—:VE D
it) D +
HA=_}IE D
(t) D +
MB =MD D
(tem) D +
Npc=Npe D
(t) D +
Qp=Qpo D
(t) U
15 B b 338
h=5.5m
l
L NES
W DI
(t) DL+
Va=Vg | D
(t) D +
Hy, =—Hj D
(t) D +
Mg =Mp D
(tem) 1B)l
Npo=Npc D
(t) D+
%ﬁbgn. D
() 1y "B
E FH R
h=5.5m
%
IS
W D]
(t) D.L4!
VA=VE D
(t) D
H, =—Hg D
(t) D+
MB =MD D
(tem) D +
Npc=Npc D
(t) D+
@) D +




